Maple Exercises for Shift Ciphers 

Shift Ciphers (Section 2.1)

1. Encipher the message 

ptext := "RADFORD IS A FUN PLACE TO GO TO SCHOOL";

    using a shift cipher of 12.

2. Cryptanalyze and decipher the messages:

    a. ctext := "UCFYT  CYLCY  QGCPJ  GDCRF  YLMSP  YLACQ  RMPQB  GB";

    b. # 13 p. 69 in textbook.


# 13: 

ctext := "BZCM  EWZBP  QA  QV  JMQVO  VWB  AMMUQVO";

   c. # 15 p. 69 in textbook.


# 15:


ctext := "EGDHE  TGXIN  XHCDI  LXIWD JIBPC  NUTPG  HPCSS  XHIPH ITHPC  SPSKT  GHXIN  XHCDI  LXIWD  JIRDB  UDGIH  PCSWD  ETH";
